Algebra Development 4.1 (KEY)
Algebra 2
Simplify the following expressions.
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Simplify.

9) -19 10) ~-96 11) 3/-27 12) ~-a'b 13) +—-108c°d°

- flocn = f16+6(-1) = J36:3c?eced® (-1)
NI - 4iJ6 =3 =ia2{h _ Gicd33c
Identify the sets of complex numbers to which each of the following belongs.

14) 7+2i 15) -4+ 0i 16) -6i 17) 0+ 0i 18) 0+ 10i
C,Imag, N.P. C,R,Q,Z C, Imag., P C,R,Q,Z,W C,Imag.,P

19) What are the two facts you must remember when working with imaginary numbers?
D) y=T=i
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Simplify.

20) 3+ 10i +6i+ 15 21) (13 +1) + (7 - 12i) 22) 7i(2) 23) 3i(51) 24) 12(4 + 5i)
=151
=18+ 161 =20-111 =141 =-15 = 48 + 601
25) 4i(9 + 2i) 26) 6i(3 - 7i) 27) 3(115 + 6i%) 28) (2 + 3i)(4 + 5i) 29) (9 + 4i)(6 - 5i)
= 361 + 8§ — 18i - 4272 = 33i+ 18§ =8+ 10i+ 12i + 15 = 54 - 45i + 24i - 2012
—36i+8(-1) = 18i-42(-1) =33+ 18(-1) —8+22i+15(-1)  =54-21i-20(-1)
= -8 + 361 =42 + 181 =-18 +331 =8+22i-15 =54-21i+20
=-7+22i =74 -211
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Simplify.

40) i 41) i 42) 43) i*
= -1 = -1 =-i =1
44) 1° 45) 1 46) 1’ 47) i
= i = -1 =i = 1
48) 49) i 50) it 51) i
= i = -1 =i = 1
52) i 53) i 54) i 55) i*
= i = -1 =i = 1
56) i 57) '8 58) i 59) {2
= i = -1 =i = 1
60) i 61) i 62) i 63) iV’
33/4 40/ 4 50/ 4 5714
=8R. 1 =10R.0 =12R.2 =14R. 1
=i =1 =-1 =1
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